Answers to Classwork— Logarithmic Functions
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y 4 New anchor pts: (2,0),(11,1)
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Range: (—o0,0)
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N Asymptote: X =1
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p New anchor pts: (1,1),(10,2)
j Domain: (0,)
: Range: (—o0,0)
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Asymptote: X =0

s ﬁy New anchor pts: (—1, —3) , (8, —2)
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New anchor pts: (2, 2),(11,1)
Domain: (1,00)
Range: (—o0,0)

Asymptote: X =1

11.

New anchor pts: (O, O) , (1.7,1)
Domain: (—1,00)
Range: (—o0,0)

Asymptote: X =-1

12.

New anchor pts: (1, 4),(2.7, 5)
Domain: (O,oo)
Range: (—o0,0)

Asymptote: X =0

13.

New anchor pts: (3,1) , (4.7, 2)
Domain: (2,00)
Range: (—oo,oo)

Asymptote: X =2

14.

New anchor pts: (—1, 3),(0.7, 2)
Domain: (—2,00)
Range: (—oo,oo)

Asymptote: X =—2




